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Aple Problems

1} When a horizontal force of I00N s applied 1o a 75kg crate, it shides on a level loo appased by a farce of kimelic

& friction of 95M. What i the acceleration of the crate? gae
ret = 20SA
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2] A stalled 1500 kg automobyile b pushed toward a gas station by a man and a woman an a |l
horizantal forces are 220N for the woman and 3358 for the man

if thers b an effective force of friction of AD0N on the car a5 il moves, whiat ia (13 acceleration?
applied foroe by the man

applied

[ B
B, O the car [s maving appreciably, wihal would e an appropriate combnned
¥

and woinan 1o keep the car maving at constant velocty?
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1) A jet catapult on an alrcra i Ty socolerates o plane with & mass of one metric tan | 1000kg) fram
rest 1o @ louneh spead of F00mph (BB.9m/s) In 2,008, What is the magnitude of the net farce on the plarae ?
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3} Ajet catapult on an aircralt carn Grmly accelerates a plane with a mass of one metnc won { 1000kg) from

rest 1o 2 launch speed of 200mph (BE.9m/s] in 2.00%, What i the magnitude of the net force on the plane?
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4} In moving a 35,0kg desk fram one shde o B 1he othier, 8 professor find that a harizontal force of
275M {5 necessary to sat the deskin motion and a force of 195K iy necessany @ keep 1 mation with 3 conseant
speed. What are the coefficients of a) static and b kinelic friction between the deik and the Noor?
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58 A Y0kg packing crate 5 placad on a 20° frictionless incline plans
8. Draw a free body diagram of the crate, and break the welght (force of gravity) into its components,
b. What Is the weight of ihe crale?
c.  Which component bells wou the normal force on the crate? Caloulate it "}
d. ‘Which component tells you the force whech accelarates the crate? Calculate it
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on the top of ML Everest? The summit is about E800m above sea level

6] What is the acceleration due Lo gravily
hat the radius of the sarth at sea level 5 6.37x 10°m

(Report to 3 significant figures]. Notel
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7] The Earth exerts  gravitational force of about 2x 107N o
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